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NIT 3
PROBLEM SOLVING

ing to a hlghway Sign, the distance from st, Louis tgo
Chicago is 295 miles. Express this dist
(1 mile = 1 61 Km) :

ance in kilometers.

2. In the D.ss, Cigarettes are smoked at t.

2.05% 904 cigarettes/s.
one year.

he rate of about
At this rate, how many are smoﬁed in

3. The mass and v

olume of tepn
respectively.

What is the

glass beads are 2,67

density of the beads?
2

g and 1.10 mL,
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[image: image2.jpg]Mercury is one of the most dense liquids known. a student

measures out 12.1 cm Hg from a buret and finds that this sample

weighs 164.56¢ g. Calculate

a. the density of mercury

b. the mass of a sample of mercury that has a volume of 2.

€. the volume of another sample of mercury that weighs 94,

Convert 836.8 J to calories.

15 cm

2.6

When one gram of gasoline burns in an automobile engine, the
amount of energy given off ig about 1.03 x 10 cal. Express

this in joules.
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[image: image3.jpg]Ccalculate
€ absorbed to raise the temperature
-00 ¢ sample of Copper from 25.00 to 32 70°C.
¥
2. T is foung that 209 J of heat must be absorbeg to raise the
temperature of 44.5 g of nickel from 18,9 to 28.9°¢ What
is the Specific heat of nickel>
What mass of copper can be heateq from 5.00 to 10°C by the
absorption OFf 22,0 F of heat?
#
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